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(IMNENF AP LR B d R, 438 58047 2 18 0] 53 B i AH )
V,=100dm? W,=0
RiF ERAAAF—BEEL  BRRAEEREHEAR KA, 4 04504

nRT; nRT
W= nCyn(Tam T =y (Vi Vi) = M1 =00 1,

HTRE W,

1-32 298K Imol KM 23dm® %45 0] 3 Bk B d6dm’, sk 4 F1 2 R A A5 4.
(BB R F B, (2) BR% 0 W4 (van der Waal) S ik ag =
0.0139dm® -kPa*mol "2, b9 = 0.039dm® * mol !, Cy . =a + 6T + ¢'T 2 =
20.3+3.77X1073T~0.50%10 5T "2J-K 'emol !,

B ()FEES R YR

L)-(ﬁ)” I, A7}
(Tz =\v, Iz = (7 = Dy
V, 2
InT, =InT, — ln = 1n298 — 212 = 5.4198
Vv, 5
T, =226K

AU =nCyo(Ty = Ty) = 2 R(226 — 298) = - 1496]
QYEPGIRE dU = pd V, JEEAES KK




% BAFH—RM 15

1-33

__nRT _aon’
V_nb() Vz
R (5%), -7
d
feA av=(55) 4+ [T(5%), - #]av
s g = V‘f‘;bo

FLL Cym=a+bT+cT™ %A,%f%} %
T . U Vo—b
aln 2+ 6(To = T)) = 5 (172 = Ty) = ~ Rin i
¥ T,=298,a=20.3,6=3.77x10"3,c=0.5%10°,60=0.039 fXLA , f#13
T, =224K

A 1mol TEEES (K
T(QB‘)— :RT _i ag _ Qg

aT Voby V-by VI V2

Bl AU :J Cy.adT + J : “‘)dV

3.77 x 1073
2

—0.50% 105 x (224 1 —2981)] —0.0139 X 10° X (1 1)

23 46
=-1520 - 0.302 = - 1520.3]

RERAAFREEREFRTENLERBLEL D BRAA I RERN

B ARV EBOEAT, TAEEA GRS FTEALBERRARLAN

H £ FH,

(1)25C . 2mol FEAS A M 15.0dm® 2% 18 o] 35 B ik B 40.0dm’®, SR B 1Y

05 (2)ZH 4 R 100kPa, A 15.0dm® %8 K] 40.0dm’, 3RS &

B3 G)BSHEHE S 55 EH R EE S, REXTEmMBON T,

B T,), HAM 15.0dm® 2R3 40.0dm®, SRR,

(1) %Rk

Vv,
W = - nRTln 7

= —-4.86x10°] = — 4.86k]
(2)SMNETE R R 100kPa
W=—p(V,—V)=—100x(40.0—15.0) = —2.50 X 10*] = —2.50k]J

=120.3 x (224 — 298) + x (224% — 298%)

0.0
5.0

= —2x8. 314><298><1n‘]1




